
  



  



 

  



 

  



 

  



 

 

Lagebeziehung von 2 Geraden in ℝ𝟐 

Gegeben Parallel Ident Schneidend Normal 

𝒚 = 𝒌𝟏 · 𝒙 + 𝒅𝟏 

𝒚 = 𝒌𝟐 · 𝒙 + 𝒅𝟐 

𝑘1 = 𝑘2 

𝑑1 ≠ 𝑑2 

𝑘1 = 𝑘2 

𝑑1 = 𝑑2 
𝑘1 ≠ 𝑘2 𝑘1 = −

1

𝑘2
 

𝒚 = 𝒌 · 𝒙 + 𝒅 

𝒂 · 𝒙 + 𝒃 · 𝒚 = 𝒄 

𝑘 = −
𝑎

𝑏
 

𝑑 ≠
𝑐

𝑏
 

𝑘 = −
𝑎

𝑏
 

𝑑 =
𝑐

𝑏
 

𝑘 ≠ −
𝑎

𝑏
 

 
𝑘 =

𝑏

𝑎
 

𝒚 = 𝒌 · 𝒙 + 𝒅 

𝑿 = (
𝒙𝑷

𝒚𝑷
) + 𝒕 · (

𝒙𝒈

𝒚𝒈
) 

𝑘 =
𝑦𝑔

𝑥𝑔
 

𝑦𝑃 ≠ 𝑘 · 𝑥𝑃 + 𝑑 

𝑘 =
𝑦𝑔

𝑥𝑔
 

𝑦𝑃 = 𝑘 · 𝑥𝑃 + 𝑑 

𝑘 ≠
𝑦𝑔

𝑥𝑔
 

 

𝑘 = −
𝑥𝑔

𝑦𝑔
 

 

𝒂𝟏 · 𝒙 + 𝒃𝟏 · 𝒚 = 𝒄𝟏 

𝒂𝟐 · 𝒙 + 𝒃𝟐 · 𝒚 = 𝒄𝟐 

𝑎1

𝑎2
=

𝑏1

𝑏2
≠

𝑐1
𝑐2

 
𝑎1

𝑎2
=

𝑏1

𝑏2
=

𝑐1
𝑐2

 
𝑎1

𝑎2
≠

𝑏1

𝑏2
 

𝑎1

𝑏1
= −

𝑏2

𝑎2
 

𝒂 · 𝒙 + 𝒃 · 𝒚 = 𝒄 

𝑿 = (
𝒙𝑷

𝒚𝑷
) + 𝒕 · (

𝒙𝒈

𝒚𝒈
) 

𝑦𝑔

𝑥𝑔
= −

𝑎

𝑏
 

𝑎 · 𝑥𝑃 + 𝑏 · 𝑦𝑃 ≠ 𝑐 

𝑦𝑔

𝑥𝑔
= −

𝑎

𝑏
 

𝑎 · 𝑥𝑃 + 𝑏 · 𝑦𝑃 = 𝑐 

𝑦𝑔

𝑥𝑔
≠ −

𝑎

𝑏
 

 

𝑦𝑔

𝑥𝑔
=

𝑏

𝑎
 

 

𝑿 = 𝑷 + 𝒕 · (
𝒙𝒈

𝒚𝒈
) 

𝑿 = 𝑸 + 𝒕 · (
𝒙𝒉

𝒚𝒉
) 

(
𝑥𝑔

𝑦𝑔
) = 𝑚 · (

𝑥ℎ

𝑦ℎ
) 

𝑃 ∉ ℎ 

𝑏𝑧𝑤. 𝑄 ∉ 𝑔 

𝑏𝑧𝑤. 𝑃𝑄⃗⃗⃗⃗  ⃗ ≠ 𝑚 · (
𝑥𝑔

𝑦𝑔
) 

𝑏𝑧𝑤. 𝑃𝑄⃗⃗⃗⃗  ⃗ ≠ 𝑚 · (
𝑥ℎ

𝑦ℎ
) 

(
𝑥𝑔

𝑦𝑔
) = 𝑚 · (

𝑥ℎ

𝑦ℎ
) 

𝑃 ∈ ℎ 

𝑏𝑧𝑤. 𝑄 ∈ 𝑔 

𝑏𝑧𝑤. 𝑃𝑄⃗⃗⃗⃗  ⃗ = 𝑚 · (
𝑥𝑔

𝑦𝑔
) 

𝑏𝑧𝑤. 𝑃𝑄⃗⃗⃗⃗  ⃗ = 𝑚 · (
𝑥ℎ

𝑦ℎ
) 

(
𝑥𝑔

𝑦𝑔
) ≠ 𝑚 · (

𝑥ℎ

𝑦ℎ
) 

 

(
𝑥𝑔

𝑦𝑔
) = 𝑚 · (

−𝑦ℎ

𝑥ℎ
) 

 

 

  



  



 

  



  



 


